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Úvod 
 
V �����
�	�������
���
	���$%�	�����	������
����
����&�������	���
��������	��'��(  
"������������
���������%�����%��	���� drogou? 
"��
��%�����
���	�	��	��������	���
������!�	
���� �����������	��'������
�������	)��!������  
������
	�
����
������������	������	��'�������( 
"��'������	����	�������
�������������
���	�%�����
��%����	)�( 
 
*����	�	���������������
������%����������
 �����
��+,�������-../������������	�����
 okolí 
����������������	
����0 
�����
�� ����� ������
���� �	������	
�� �������� ��������� ��� ����� -0� ������� ���������
� %�	��
a na studenty v ���%��
��	!�����
�)�������0 
*'�����	)	
'���	�������������������
	�����������	���������  nás má k ������
�������	����
�����	0�1�������� ������	� �������������� � ��	)	�������	��!������
����ulturních akcích nebo 
vlastní zkušenosti s ���
����� ��	)� 
 �	����'�� ��	������� !�� ����� 
����
����0� ��	� ����
�'�
�	�
	����������
	���
�����������������
��	����������	
�����	)��	���!���������'���	��!������
�	���	
��'���
��	
'�����������0����	
	���������0 
Drogy ��	�� �� ���	�0� 2���	� 
������ ����� 	�	�	� 3.� ���� �� ����'� ����� 
 jedné ruce cigaretu a 
v ���
'���
	0�1����������	�	������������	������!�	��������	���
	�����'�����������	�
	������������
jaká je situace v 	����������
������	)������������������������
�%�	���
������ gymnáziích na 
����������������	
����0 
K �����������������'���
�������	�������	)���������������������������	��	���	���	
'���������
nabízení a odmítání drog. Poté co jsme si s �������	
������	��	���	
'��������������������������
dobrat se i jejich vlastních zkušeností s ��	)	����
��
	������	��	���
������'���	
���	��
�����

���������
'��	��	��������	���������	���	���������0 
��%��� ������ ���	� �	������ ��� 	��	
����� ��� 	������ �
����'� 
�%�� ��� �������� 
��������
�	������	
'
	���������0�4���������������	����'���	������	���������	
�������	�������������
�
návykových látek na lidský organismus. 
 
 
Metodika 
 
5�������� ��%�� ������ ��� ����� �	������	
�� �������0� ��	� ��
	� 6!���� ����� ���
����� �� ��	����
upravili dotazník identifikující rizikové oblasti, který podle R. E. Tanera adaptovali Nešpor, 
7�'��� �� �����	
�� �� �
��������� 
 ���������� 1��	
	��� ��	)�� �� 
�%�� ����� $� ���
��� 3889&0� :��
�����	
���� ���� ��������
� ��	���������
��� �	�������� ��� �	��	���� 
��������� �����	���
;4	������<0� 4���� ����� �����
���� �� ������
���� ����� ����	����� ����� 	� 6!�����
�� �	padech 
a ����	���
����
������
��	
��
�������$���������;���������<&0�4	����������������������	
����
v �	���	��-0��	�3=0�>0��������������������
�%�	���
�
 ?����
	
�������������%����������������
dvou gymnáziích -�@"���������$@���������"���������
�&���@A�������	vice (Gymnázium 
A�����%��� ������'
	&0� "�����	� ��� 	� ����� 90-� 80� ����� 5�� �� ��������� �������� ��� �
����� ���
)��������
0�B����	
�����	��������������	�����������������/.�-�C.������0�B�����
�������!����

��!	
����
	����������� �����������������	��������������
�����tky a zkušenosti s návykovými 
látkami. V �������� ���� ���� ����� �	��������� �
�� 
��!	
���� 
	������ ����� 
 první z nich 
�����	��������������	������������������������������������������������
�'�	��	
���0��	�'������
����
������	���	
	����������� tématikou drogové ��	������������	����������������	����������
�	� ���� ���%��
� ������� �� �	��������� � nimi modelové situace a jejich vlastní zkušenosti 
s ��
��	
�����������0�4��
��
��!	
����
	����������
��	
������������������	�������0�4����
����������	���������
����	�����������������������	�������������������������	
���0 
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Charakteristika znalostního testu 
 
D��������%�	���
��������	��	��������������E�������
	������	
'�	���������
	����	���
������
��
�����	���� ����	����� ����� ����������� ��� � ������� 	�����0� 4	��������� ����� ��� �	�
�����, jaké 
��E	����������������	���	)��
�������
����	������6!�����
����	�����
�����������	�)�������0 
������'���������,�����������
 ����	��0�B���������������	�������	
����
 ��������
�$
�������	
��
-�B��	�	���������&0 
 
 
Vyhodnocení znalostního testu 
 
Dotazník jsm��������������������90���F0�����0������	����������������������	����
���������	��
����
��%������	����	�6!�����
���	�����
�������	���
����
������
��	
��
����������	�	��������

�������%��	���������
���	�	������
�����	��	�����������	)����������0� 
��,��������	!����	��������'��	
��������	��0�������������������	�3-0�G�	�	�������	!����	���
$33&�� ������	� C�9=H� ����� 	����
� ����0� I��	� �	� ����� 
���� ���� 
 ������
� ������
�� ���� ����	�
�	!��� �	��� ������	� �	���� -�� 8CH� ����0� 4����� �	��� 
 ������ ���	� 
 	����
� ������
� 3=�-H��
�����	 v ������
�������
�����3.��-8H0�7���	
�������	����
�������	��
���
 tomto testu lepších 

�������0� 5 �	
	� ����������� ��� ����� 	����
� ����� ����� 	���
��� 
��%�� ����	���� 	� 6!�����
��
�	�����
�������	���
����
������
��	
��
������0 
 
 
Charakteristika dotazníku 
 
Na vy������� �'���� !���������	
'
	��	��������������� ������	���
�����������������������
��
%�	���
� ���	�� �	�������	� C=� �����0� "��� ���� ���	� �
����	� 
�%��� �	������� ����� � ��
�����
���������� 1��	
	��� ��	)�� �� 
�%�� ����0� 4	������� ��� �	������� �	� ���� !����0� ��
��� ��� ���� �� 
���������6�����	�����	�����	
��$�	
��
��� ������ ��%�	��������	���������%�	������
���&05
	�����
����� 6����� ����� ���� ���
	
���� ��	������� ����	������� �� ���	
��� ��	������ ����������'�
zpracování dat. 
4��
��!���� ��� �	���������	�3.�	������0�:����������
� ��� �	����������� ���	��!������
	����������
nebo dospívajícího: 
��30�	����� �B	����!������������� 
  2. oblast: Chování 
  3. oblast: Zdravotní stav 
  4. oblast: Duševní zdraví 
  5. oblast: Sociální zdatnost  
  6. oblast: Rodinný systém 
  7. oblast: Škola 
  8. oblast: Pracovní adaptace 
  9. oblast: Vztahy s vrstevníky 
10. oblast: Návykové látky 
 
�	!���	������
�����'�	������� ����	
������	��3.��	�-.0��������	��	�������	
�� ����	������
	��	
���������;G	�
����<����	�;���	�
����<�����	�������	��	
����������6�����������������
odpov����� �	���� �	
	�� ���� ��� ���
��
�� 	��	
��� �	���� ��
	� ���	��� ������ �	�
����� ���	�
���	�
����0� J������ 
� �	�������� ��	�� �	�����	
���� ����� ��� �	�
������ 	��	
��� ����	�������
���������
�%������	��'�	
'
	� ����,�����'�	������0� "��������	
���!���
���� ����	�
������
�
od�	
����
���!��'�	������������
������	��'���
�������������	���������0���	��'�	
������,����

��������� 
� ��	������
�� ���	� �	���� �	�
������
� 	��	
���� �� ����	
'
	� �	!��� 	��	
����
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v �	���'���� 	������0� "���	���
'� 	������� ����� 
�
	��	�	
���� �
��%�0� 5��	
��� ���� ���	� �	��	�

�������� ����	
�� ��	��'�	
�� ����,� ��������� ���	� ����0� 1� �	� ����� ��� ����� 
��	!������
�������	��
	��	�������	��'�	
��
�����,������	���
��
�	������0 
�	�	����� ����	���� ���	� �	��	� �������� ����	
�� ��	��'�	
�� ����,� ������� ��������
�� 
%��
�
����	�������
������ školy nebo obce. 
��������	
�����
��������������� 
*��	� 	������ ��� ����� ���
���� 
	��'
	� !���� �	���
�����
	0� J������ ��� ������ ��� �0� ��� ��	�� �
;G�	�����%��'���������
����
����(< 
2. oblast: Chování 
*��	�	�������	������������	����������	���
�������
	
��
����	��!�	������������
��
�
����
������
doma nebo ve škole. 
3. oblast: Zdravotní stav 
5
�%��'���	����	�$
��%���	!�������	���	
����
��	�
������
�	��	
���&������!����������������
������
���	�	���������'�����
	����	�����0�*���	
	���	�
���������
��	
�����������0  
4. oblast: Duševní zdraví 
4�%�
��� ��	��'��� !���	� �	�
������ �� ������� 	��������� ���!������� �� �	������� ����'���0�
���!��	�������������������������	������%���	�
	���
�����������0 
5. oblast: Sociální zdatnost 
Otázky v páté oblasti se respondenta ptají na jeho pocity ve ��	��!�	���0�����0� 	����� � ;"���
mezi vrstevníky málo oblíbený (oblíbená)?“ 
J��	
�������	������
�	��������	������������	����	
	�������������������������	�	�����������	�
�	���
������
�����
���
���
����	��	���
���������
����
����������!�������������0 
6. oblast: Rodinný systém 
J������ ��� ��������� ��� �	���� � ��� �	����'� 
���
��� ��� E���!�	��� �	����� �� ��� �	�����
dospívajícího v �	����0 
7. oblast: Škola 
����������'� ��	����	� 
 �'�	� 	������� ����� ��������� ��	��'��� 
�� %�	��� ����	���'� ����0 �
%�������� �	��������� �	��� ��	� ������
��� �	���
���� �	�	��	����� �	���
�� �	�����������
�	�������� ��	��'������	� 
���
	
���� ��	��'���
�� %�	��0�����0� 	����� � ;7���%� ��� 
�� %�	���
E�������	
�	�	
���$	
�	�	
���&(< 
��������	
���������������������� 
B��%�����	���	
����
����	�	��������
�����������	�	��� ��%����������������	�����)���0�5
�%��'�
��	����	�
%�����������������
	�%������	
����������	����0 
9. oblast: Vztahy s vrstevníky 
*��	�	�����������	���������
	��!����������'���	����	�
�����  

a) K����	
��������'�������� 
5
�%��'� ��	����	� �������
� 	��	
���� ����� �����!	
��� ��!������� �	� �����	
'� ������ ���	�
�����%��	����������
 �	�������	�0 

b) :����'�	��	
�������	������!03/���3C �;�����%�����'
	������������	�������������
����'�����������	
��$�	
��&��
����(<���;��%�
 porovnání s 
����
��������	�������(<�
�����!������������	������������	�����!�	�������	�������
�
���
�0 

10. oblast: Návykové látky 
*��	� 	������ ��� �	�����	
���� ������ ���� 	������� �����
	��0� 5��%����� !���	��� ������ ��
��	
��
�
látek, resp. hraní hazardních her, v �	�������
�/.�����
����	����
�0 
 
5�
���!���������!�����	������������
	������	���	
���������	�����������E	�����0 
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��	�����	������	������������������� 
 
10 oblastí zahrnuté v �	��������� ����'� ��� ������� %�	���� 
����
����� ���0�� ����� ��� �	�
	�����
srovnat z ����
������� � 
1) Pohledem na pohlaví -��������	����� 
2) Srovnání v����–�90��F0���80�*��� 
3) Z hlediska lokality 
 
L�	�	������������������'�
��	�'���������	
	���������	�
��	
��0�M�E	�����������'����
	��
�	����	
���� � 6���'��� �	�
������ 
��	�'��� ������ 
�!���� � ��������� �����	�� ����	�� ��
������
v �	�������������������������������������������������0 
 
1. oblast-�����
���� 
 
Naše hypotéza zní: V 	�������
	��'
	�!�������	�����������90������������%����	��'�	
������,0�
�����	�������������	��������	���	���������	��!��	����	�%�	��������
�����
��
�����0���	����
���
���� ��� �	�� ���	�� 80������� ����0� 
� ?����
	
�� ���	� �%����� �����	�� ���	� ����� �����!���
����������	��	��	������	�
�������
	��'
	�!���0� 
 
V ��
��������������	�	
��
��������	
����	��'�	
������,��
����������
��0�5�������������������
	�	���	
��
������'�����
	���0����!�����
������$/.H&������7�M�	�-H�
�%%��������
���$-FH&0 
 
Za druhé jsme porovnávali celkový problémový index z 
��������
����� ���0�7�M- 7., 8. a 9. 
����0�J!�
��������
������	������	��80������$/3H&��������
'�;����	<�����	������F0��������-FH���
90��������	������	���	�	����$-9H&0� 
 
Z ���tího hlediska –� ����	
�� ��	��'�	
�� ����,� �	�������� ��� ���
���� ��	����� ?����
	
�� 
��
kterém se procenta pohybují mezi hodnotami 35- 49. 
7���	
�� ���� ������ ��� �����	��'�	
��%�� ��	�� �
������ �� ��
��� �� 80������ 
 ?����
	
��� �	�� ���
	
�������
 tabulkách potvrzuje po��������
��0�2������%��
��	�'������� 
���'�!������	�
�����0�
���������%����	�	���	���������	�������
������
�%�����������������%��
 ������
��	�������
����	�
�����
����������
��0�*	����������������0���80�������
����������0�5����	����
������	
����
������
jedna 90����������7�M�3=H������
��C8H0*��'������ ��������
�!��������
 této oblasti mají CPI 

�%%��5��$/.H&�����)��������$-=H&�	�=H0 
 
 (Viz tabulky J,K,L,M,N,O - str. 42, 43, 44 a 45) 
 
2. oblast- Chování 
 
�����	�������� ������ ��� 
� -0	�������� ��������� ��� �
	
����� ���	�� ���� 
��%�� ��	��'�	
�� ����,�
�
������80��������	�	�����	�
����	��	�������������������
��%���	��	
���	��������������������

�����	
���	���������	�	�����	���
������������	
�������
������	��'��� $�
 �'�	�	������&�����
v �����
�������
0 
 
���� �	�	
��
���� � hledi���� �	
��
�� ����� ���������� ��� 
	�%�� ��	��'�	
�� ����,� ����� �
������ 	�
5%.Chlapci mají CPI 39% a dívky 34%. 
 
Z 
����������	
��
����
��	
��
����������	������	�����
����F0��������/9H0�N������
	������	��
����	��90���80��������/=H0 
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Z hlediska lokality vykazuje nejvyšší procento Mšeno, ve kterém se hodnoty pohybovaly 
mezi 39 - 49%.Neratovice mají problémový index, který se pohybuje mezi 35 - 67% . 
 
 
V ��
���� ����
�%�	�� ��� 
��	��� ��	��'�	
�� ����,������ �
������ �� F0����� $� ��%�� 
��	�'��� ���
tedy tímto výsledkem nepotvrdila) a to v �	������� �%��	� �� �����	
���0B�������� � tabulek 
�����������7�M���������
�%%���
������F0������
 ��������$CFH&05�
�������������%�	�����������������
���
�%%������	
����	��'�	
������,������	����5��$/9H&0�@�������������/=H0 
 
3. oblast- Zdravotní stav 
 
4	���
���� ���� ��� 
	�%�� ����
	���� ���
�� ����� �� 
�%%�� ��	��'�	
�� ����,����	�� ���� 80� � ����0�
�������� ���� ��� ��� ����
������ !������� �	� �	������� � ��
��	
���� �������� $����0� ��)�����&�
a z �����
��	���
���������	
	��
�����������
	������	��'��0  
 
Z hlediska pohlaví jsou na tom s ��	��'�	
��� ����,����
������ �� ��
���6����� ������0������
27%. 
 
-FH�������
�%%����	����	�����	
'
	���	��'�	
'
	�����,��
���
	��
��	
��
���������
 �
 8. 
��80�������
0�B�90��������������	�����,����%��	�-H0� 
 
Horší problémový index v oblasti zdravo���� ���
� �	���
������
� ����� ������������ 
�� ������
�%��	��������	
������������7�M�
�%��
��������=.H����
�����0 
 
��%�� 
��	�'��� ��� ����� �	�
������� ��	�	��� ���� 
�%�	�� ��� �
�%���� ��	��'�	
�� ����,� ���
�����!������
������80� ����0�5�
���������	�	
���������	
'
	���	�lémového indexu typu škol 
mají vyšší procento ZŠ (29%) oproti gymnáziím, která mají 21%. 
 
4. oblast- Duševní zdraví 
 
�����	��������� ��� 
�%%�� ��	��'�	
�� ����,� ���	�� ���� F0� ���	� 80������ �����	�� ���������
��	�
������ 	��	����� ���� ��	�� ��� ��� �������� 
��%�� ���	��� �� ����� ��� ������ ��� �������� ��� ���
�����	���	���������
���0 
 
Z hlediska pohlaví mají dívky ��	��'�	
������,�
�%%��$/.H&���
�����������	�/H��'���$-9H&0 
 
G�	
������
������������	���
��
�
��	
��
��������$90�F0�80�����&����������������������
�%%��7�M�
�����F0���dy s 33%, druhé v �	�������	��90�����������'������	�3H��'��0�80�������	����������'���
s 31%. 
 
5�
���������	�����������������������������
�%%� problémový index mají Neratovice. 
 
Z �
����'
	�
����
�����������	��'�	
��%����������������
���
�F0������
�
 Neratovicích, ale 
����� �	��� ����� ��	�	��� ���
�%%��7�M������ ��
�����
����
� ����� 
���%���0���%�� 
��	�'��� ���
!����!���
�������0�7���	
����	��'�	
������,������
�%%��5����//H0�@�������������/3H0  
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5. oblast- Sociální zdatnost 
 
�����	�������� ���������
�=0�	������� ������cí se sociální zdatnosti, bude s �����
�������
�����
��	���������	��'�	
������,�������
�%%������	���������'��������	������������������
�	�	��0 
 
Z 
�������� �	
��
�� ����� ���%�� ��	��'�	
�� ����,� ��
���� 	
%��� �	����� ����� ��
�	�� $-=H&� ��
chlapcem (27%) je jen 2%. 
 
Problémový index s 
����� �����
�� 	� 3� -� -H0� ������%�� ��	��'�	
�� ����,� ���� ���%���� 
� 80�
������
�$-FH&0 
 
Z hlediska lokality vykazuje nejvyšší CPI v 	������� �	������� �����	��� ������� ���� ��� ����,�
pohybuje mezi 30- 40%. 
 
Hypotéza uvedená výše se tedy potvrdila. Z 
��������7�M������%�	�����
�%%����	����	�	����5��
s 27%. Gymnázia mají 22%. 
 
6. oblast- Rodinný systém 
 
�����	�������� ������ ��� 
� >0� 	������� ��������� ��� �	����'
	� ����'���� ���	�� ���� ���
��%��
��	��'�	
������,������80�����������	�����
�������������	��
����ící je od rodiny. 
 
Z prvního hlediska -��	
��
��������
�%%��7�M���
���$--H&������	
�������%��	�3H�0�7
�����������
21%. 
 
80�����������-9H���F0������->H���90������-=H0 
 
5�� �	�
�����
� �������� ��	� >0� 	������ ��� �����'�� ��� � problémy vyplývajícími z rodinných 
vzt�
��������!��������	��������	���
������
 Neratovicích. 
 
?��� ������ ��� �����	��'�	
��%�� ��� ����� ���� �
������ 80������ 
 �����	
����
�� �	�� 
���������
��������
� 
� �	���	� ������ ��	��	
���0� 5�
���� 	��	
������ 6
	���� 
��	�'��� - nejvyšší 
��	��'�	
������,�����������80����������	����������%�������90������0�B �'�	�	�����������'��������	�
gymnáziím, které mají procento 19 zatímco ZŠ mají 23%. 
 
7. oblast- Škola 
 
�����	�����������������
 ����'�	������������������������%�	�������	������
��%����	��'�������%��
������ $F0�� 80�����&�� �������'� �	��!���'��� �	
������� 
�
������� �����
�
���0�1� ���'�
�
������
k �����
��������������$������'����	��&0 
 
5�
���������	
��
���������������������
�����$-=H&������	�>H�
�%%����	��'�	
������,�������
���
(19%). 
 
Z 
�������� 
���� ���� 
�����	
��� ����������í tendenci: s �����
������� 
����� �	���� ����	
��
��	��'�	
������, �90�����������-.H��F0������--H���80������-/H0 
 
Nejvyšší problémový index v 	�������������������%�	�������������
 Neratovicích. 
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Shrneme-� ��� �
������ ���� 
��������� ������� ���
����� ��� ������� ���	 v �����
	��� 	������� �����
���
�%%�� ��	��'�	
�� ����,� ����� 80� ����0� �	�
������ ��� ���� �� ��%�� 
�%�� �
������ 
��	�'��0�
Z pohledu na typ školy mají tentokrát vyšší problémový index gymnázia s 23%. ZŠ mají 
22%. 
 
8. oblast- Pracovní adaptace 
 
��%���	���������	�
��������F0	������������������	������������������)�������������������� �������
���������%��������	�3=����������	�������	��	�������������)������	�������������	�	������	��
������	��'��������'����������������0���	���������80��������������������	�3=����������	
	����íš 
problémy v této oblasti vyskytnout. 
 
�����
�� ����� 	���� �	�	
��
���� ��������� � 
�������� �	
��
�0� 5�������� ������ ��� �
������ $39H&�
vykazují vyšší ��	��'�	
������,�	�-H�������
���$3=H&0 
 
5�
��������
������������
�%%����	��'�	
������,�80������$39H&��F0������������3=H���90�������
mají 14%.  
  
Z �	
������ ������ ����� �	�������� �	���� �	������� ����� � �������� 
�!������ ��� ���
���� ��� ��� �	��
��������������'
	����
	��	����	
�����������/=�- 50%. 
 
Z ���
�	� ���� 
��������
����
��� ��� �����	��'�	
��%�� 
 �'�	� 	������� �������� ���� �
������ 80� �����
v �������0�*���	���
��� ������	�
������� �����	��
 ����������������
�%%��7�M���
��0�7
������
80��������������	
����	��'�	
������,����
�%%��
 �����	
����
0�2������%��
��	�'����������������
�����	��'�	
��%�� ���	��80������ ����	�
�����0�B této oblasti mají z hlediska typu školy vyšší 
výsledky o 1% gymnázia. ZŠ mají 16%. 
 
9. oblast- Vztahy a vrstevníci 
 
�����	�����������������
 	�������80�;B����
����<����	������
�%%��7�M������F0���80��������	�	���
v �	��	�	��	�����������
��%��	��
���������������;�����<���	��	������	��!��0�5 hlediska pohlaví 
���	��������������	��'�	
������,���������������	���%��0 
 
Z 
���������	
��
������������������������	
'�
�������������%���	����	�3H0�7
�����������//H���
��
��� ����� ��	��'�	
�� ����,� /-H0� *	� ��	�� ����	
'� 
�������� �
%�� v jednotlivých obcích 
�	
	����������	���
'�
����������
������
������
������	�����'0 
 
Problémový index z �	
������������	
��
��������90��F0��80�����������%�������	�����������90������
�����-=H���F0�������/-H���80��������	��
���
��������/9H0 
 
Jako lokalita, k����� ��� ���
�%%�� 
�������� �� ������ ���� ���� 	!���
��� ���
���� ��	��'��� �����
vrstevníky se ukázaly Neratovice, kde dosáhly ZŠ 54% a 58%. 
 
��%��
��	�'�������	�
����������!����!����	���
������
��%����	��'�	
	���
�80�	�����������������
80� ������ � hlediska pohlaví se hypotéza také potvrdila, ale z hlediska lokalit jsou výsledky 
rozdílné. Celkový problémový index této oblasti mají o 1% procento vyšší ZŠ. Gymnázia 
mají 32%. 
 
5�
������������������	����������
	���
�������	�	���������
���������
����'�
�%������	��������
od����%�����0���������������	���������	������0�G����������'����	�	�����!�	
�����������
����
��
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��
��	
	�� ������ !������� ����0� !��
���� �	������� ��� 7�M� �	
������ ����� C=H- 60% i více 
(výsledky z ����������1��	
	�����	)����
�%������&0 
 
  
Interpretace 10. oblasti 
  
 �������!�"������#��	���$ 
 
�����	�������� ������ ��� � 
�������� !���	���� �	���
���� ��
��	
��
� ������ ���	�� ���� 
��%��
��	��'��� �������%�� �	!����� !���� F0� �� 80� �����0� B� �	��	� 
���� ��� 
��%�� ���
���	�	��	���� ���
návykovou látku vyzkouší. 
 
Alkohol 
�	���������	
	������
������3,�������������������	�����
��%��!���	����	�����������90���������80�
������ $->H&�� �������������� ������ ����	������	�������
�/.����0�80� �������	���
���� ���	���	)��
!�������� ���� ������	� ���� ��� �	����� 
 !���	���� �	������ /,� -� 8,� ��������� ��������90� ��80� ��������
�	�����
�����$�--H���/9H&0������	������3.,�-�-.,����
�������-.,�����������������
�����	������
v 80�������
0�1��	
	������	�������������
����������	����
�����
��������90������$/FH&0� 
 
Tabák 
Z 
�������� ���	���
���� ������� ��	�� ��� �	�� ����'��� 90� ������ $>3%). Tabák 1x za poslední 
������
���
�	����
������������90������$3-H&0�/,�-�8,�����	��������������������	����	����
����
����� F0� ����� $33H&�� 90�1�80� ������ ��	����� �	�� ������� $>H&� -� �	�� ��� ������
'0�1����� ���������
�������
�������-.,�������������	!�
���'�����80��������
��������������
�����	������$-=H&0 
 
Marihuana 
Z �������� 
����
��� �������
����� ���	������ ���� ����	�� 
��%���� ����� ��� 90� �� F0� ����� $� 8.H���
FCH&0�3,�����	����������������
%������
�����	�������
���������F0������$3.H&0������	������/,- 9x 
������������������	�������	������	�����
�����
��������80������$3.H&0�4��
�����	��������	����	�
	����
�����������80������$/H&0 
 
U ���%�	�������	���"�&'("����)	������������������������������������	���������
��%��	�����	
'�
$
����������	������/,�- 9x, 10x -�-.,���
�������-.,�����	������������&0B����������	������3,����
��	����	���F0���80�������	
�����������.�-�>H0�1�������	�������
������������0�
�F0���80�������
�
se najde i jedinec, který si vezme „tvrdou“ drogu i 3x -�8,���������0 
 
V �����������%�	��	�����
����)	��������� na spa������!���	����	������
����������%���������'���
��	����	����������������	�
	������'������
���������� �������	��������  �����
���	���'�����������
�����������'�����
	������	��'��0�1�����������������������
������'��3.,� -�-.,��	�����������'��
�������������������'���������������	������	��'�0 
 
5����
��	
'�����	
��������
��������
��������������������������������
�������	�
���
����
����
�
������80� ����� $�3,�����0� - 13% a 3x - 9x za m. 6%). 3x –� 8,����������
����
���� ���	�
���

%��
��������������	�	����$>H&0 
 
Hypotéza se n���
��%��	�����	�
�����0�L�����	��������F0���80�������
����
������
��	
'�������
!�������������������������
����	��������90� ���������!���	���	����������
��	
����� ����F0� ����80�
������0 
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*������������	���
������ 
 
����	!�������%��
�
����������������	�	��������	����	�����������'�������������	�E������	�����
objasnit. 
��
��� 	������� ������ ���� ��������� ��� ������ ��� �����	��'�	
��%�� 	������� ��
	��� �	���
�����
	�
!�	
���0� G
������ ����� 
�������� ��� 90�� F0� �� 80� ����� �� 	�������� ����'� ���������� ������� ���
��%��
problémy se ukáz����	��������
	
�������%�
��
	����
����
���
�������
����
����0�7�M�$����	
��
��	��'�	
������,&����
��
%��
�������
��	
��	���%���
�������
��	
������	�	�	�/.H0�7	�����
�
	��	��� ��������� ���� !�	
��� 
����� ���� ����� �� ������ ��� ������ ��� �
'� ����	� ����� 
����
������
pochopitelné. 
"��'� ��
��	
'� ������ ���!������� ������
���� ������ ���'� �� ���� ��� �	� � 
����(� :���� ����� ���
�	��
�������!���	����	���
������
��	
��
�������
�3.0�	�����������������������������������������
%�	���������	���������
��%�����	����������%����������
����	����������90�������	���
������
��	
'�
������ ���	� ��� ���	
	�� �� ������ ��	
��� ��	���������� ������� ���	� 80� �����0� L� 80� �� F0� ����� ���
������
'�� ��� ��
��	
'� ������ �	���
���� �������� �������� ������ ������ �� ��� ��
��	�� ������
����	������������
������������	��������������������'���������	����������������%������	
�	�
����3F����0����!��������	���
��������������������������	
	���������������
����0  
4	���
���������'����!���	����
��	��������'�������������������!���'��	���
������	)0�5�
���	���
�����	
����������
��	��������	�������������������02�	
������!���	�	������������	����������
�������	�������
��	������������	)�����������������	�
��%�������������	���0�J�
���	����������

������ ����'� ���� ����� �	���� ���� ����� ��������0� ���
��%�� ����	���� 	� 
�����	����
� �� 6!�����
�
návykových látek mají ��������� 	����
� ������ ���� ��	�	��������� ��� ����	����� ����� �����
����������������
�����������0 
V tomto tématu –� �	���
���� ��
��	
��
� ������ �� ��	��'�	
	��� ������
� ����� 
  ������
�
	�������
���
	������
	���
�����
 ���%�����	����	���!	
��������������%��
����
���� program, 
�������������������������	
������%��
�
�������
����%��	����� návykovými látkami a snaha se 
�	�����������%��	�������������0� 
��������������� ���	�!������	�����������	���������	!������	�	���������������!���	��������

���%�����
���
��������	��	��� tomuto tématu. 
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(���$�!�"������#��	���$ 
 
��%��
��	�'������ ���
���F0���80�*�������	����
��	
'�������
����
���!�������������
���90�������
��	�	�����	�
������	��	������������	���������	
��
����������
���	�	��'0 
 
Alkohol 
V �	���������	
	���3,�����	�������
�/.��������������	�����
	����
������
����	����	�
�F0���80�
������
� $� 
 	�	�� ������
� /-H&0� /,-� 8,� ���� �	����	� 
���� ������ �� 80� ����� $/=H&� �� ����
���
��
��
��� ��� 90� ����� ����� /3H0� 3.,-� -.,� � �	������ ���!������� ���	
	�� ��
��� �� F0� ����� $>H&0� 1���
����	��
����	����'������������	
	�����	����	����
�����������������90������$CFH&0 
 
Tabák 
���
������
���
�F0�������
��	����	�������3,�����	�������
�/.�����$3FH&0�B��	������/,- 9x za 
�	����������������F0���������������	�������	����
	�%��
 !���	�����	���
����$3CH&0�3.,- 20 za 
�������	������ ���������
������
�����80� �����$--H&���������	��������
	������!��������	���
����
���
��$3.H&0 
 
Marihuana 
Z �������� 
����
��� ��� ���
���� ���������� �� 90� ����� ���	� ��
��	
	�� ������ ��� �	������� ������

��������	������$9=H&0�3,���	)���	����	����
������
�����90� �����$39H&0�1������	������/,�- 9x 
��� ������ 
����
��� ��� ����� 	���� ���
���� �	������ F0� ������ $9H&0� 4��
�� �� -.,� �� 
���� ������
�	���
��	����
����������F0�����0 
 
V �������� �
����
� ��	)� ���	� ��� ?G4�� ���
������ 	������ �� �	����� ��� ������	�� ��� ��
��� �����
�	������ �'���� ���	
'�� ���� ��� �	������ �����'�� ��� �	������ ���
������ 3,� ��� �	������� ������ ���
���
����
���������
�90�������
0 
 
L� �'��� ��	����	������� ��������'��������	������3,��	���������������	����	�
�%%�0�B ��������
�	������/,�-�8,������	����	����
�%%������
�����80������$�3=H&���F0������$3>H&0 
 
U hazardních her je to podobné jako u tvrdých drog. Snad vyšší procento v ���������	������3,�
����	����������������
������	�����
���
�90���F0�������
�$33H���FH&0 
 
#��	�'����������
��%��	���	�
�����0���
��	
'���������!��������	���
������
���F0���80�����0 
 
 
 
'����)������������������ 
 
�����	��������� ��� �	���
���� ���	
	��� ����� �� �
������ 
�%%�� �� �	���
��� ������ ���	�� ���%��
��
��0�L�	�������
���
��	
��
�����������������������	���
������	�	���	
��
��������	�	��'0  
 
Alkohol 
V �	�	
������
������a dívek z 
���������	���
�������	
	�������	��'�
�!����� ������������3,�
����������	����	����	�������
������
���$-9H&0�5 
���������	������/,�-�8,��������������	����	��
	����
������
���$/.H&�����������	�������	�����������������	�
��������	
	��
�����
������
(31%). 
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Tabák 
*��	�������
���
�	�3,�����	�������������
������
���$3/H&0�B �	������/,�-�8,����������	�����
�������	���
��	�	�-H�
�����
������������	�	
������	
��
��
��	������������
�������-.,����������
z ��������
�������	�����	����	
��
����	������	��� �	��������	�	����$�3/H���3CH&0 
 
Marihuana 
����
����� 3,� ��� �	������� ������ �	����	� 
���� ��
��� �� �	� 3-H0� B �	������ /,� - 9x se zase 
��	������	��
����
�����
������$>H&0�1����	������3.,�-�-.,��������	���	
��
�������
����$>H&0�
4��
���������	����	����%��
�����
���$CH&0 
 
U lá�������	�������
������?G4���	�������	����������	�������'������
������	����	�������
��������
�����	���	����,�������3=�������������
�����	�����0�*
��'���	)��
���	�%��	����%��
����
�����0�
*	����'�������������
��
������0 
 
V �	������ �'�����	����	��������������������	�
��������%������	�������������
��������	����	�
vyšší . 
 
#��������
������!�����%�����
����������
 �	������3,����������$3.H&�����/,�- 9x (6%). 
 
Hypotéza uvedená výše se nepotvrzuje. 
 
 
Reflexe naší skupiny 
 
K�E��,�� ��%�� �������� 
������� ���� �����	
�
���� ���
�	� 
��������� �	�� ���	� 
���� �	� ���������
z +,������� -../0� 5���	� ��� ���� �	��'� �������� ��%�� ���	��� �� �	����� ��� !������������
	�

��������	� �	
	�	���	������� �����	�������������������
��������	�
	
	���������������������
��	
���������
��������	!�����	����	��	��������
	������
������	�����0 
 
;��
���
	�������	��������� ��������������	
��� ������ ������0���!������ ��������� ����	���
������
����� ���	�� ���� 
	��'� �� �	�	���� ��� �� ���	�� �	��	��
��0� ������ ��� �	
������ �������	�
�	����	�����������	���	��'�����
����
������������
���������0�������������������
����	��
	���
����	��	�� 	��
���	���� �� ���� � �	
������ 
������ ��������� �	���0� 1��� 
%����� ����� ���� ��� ���
)��������
��������	
���������	���������0 
��
���������������	����	��������%��'���������������
�������������������	���
�	
�����	���� 
��	)���� �	� ������	� ���������������
���	�
��0������������ ����������
���%������ ������� �����
�
���	���
�	
�����	����
 �	���	�������%����	�������%�0�5�	�%�������������������
���������������
������������	�����	%��������� �	���������	�	����	��	�������������%�����	����	�������
�������$���
na pár výjimek).  
1��������	������	���
�����
�������������	���	������������������������
��������������
��������
odejdeme, nevytáhneme cigarety. 
1�����
��������
��
����� ������ ��� ��
����,�����������	����������� �����	������	�����������p 
k 	�������������������	��	�0�I�����	�6���������%��	����������	��������	0< 
(Barbora Kopencová) 
 
;�������������%����	)��������	�����
������	���%��0��	����������	�������������������������
����	����������������
�������������	���%����������	���
'�	�	��0����������������������	)�����
���	���������	���	����
��!�������������������!������%�	����0�G��������������0< 
$"����������& 
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;����
����������	�%�����	��	�!��'�� Neratovic.  
*����������	����	���!�����
	����	��
	��������	�������������������������	)���0< 
$���������!��) 
 
;�������������������4�	)����!������	���������%�	���
������������	������0���
�����������������
����
��	���	����������'����)���������������!���0����������������	���%�����������	�%����������
����
��!����� ��� �	� ����� ���� �	��'
	0� :���� ����� ��� ��� �	������ �	� �	� taktu s takovýmhle 
��������� ���� ����� ��� 
	� �������� ����
��!��� �� ��� ������ ��� ����� �
���� ����� �	��0� ��� ��
���
�,������������������	��������������������
	�����	
��
���E	������
�	���	)��
������	���
�������
��� ������
� ��� ������0� *��� �	
��� 
��� �� ������� ��� ����� ��� s ���� ���	���0� *�	�
�� ��� �	���0�
:���	�������	������E�����,������������������������������	��	��������0�"�%���������
���������
������0< 
(Markéta Dlouhá) 
 
„Práce v �'
��� ����������� ��������� ���� ���	��� ���� �� ����	���0�L�!���� �����	� ��
�'� ��� ���	���
����������	�
�������
����������
	������	��������������
	�������������	
	�!�	
���
	�����	�
��
����	������
�����
'
	�	�	��������������	��	��0�L���������!��	������	������������	������������
������������������%���
	�����	��!��0 
7	������!����������%�	���
�������������������'����
�������%��;������%��<
������ srdci, ale pro 
���	
	��	�������������%��������
	����0�1��������� ���
���������	��	��
��������	��	���������
��!�����������������	������0 
�������� ��� ����� ����� E���� ��
���� �������� �� ��� ��� ���
� 3C� ���� ����� ��� ���!���� ��	��� ��
�le 

��
��������������	���!����$���	����&���	�
	������	������0< 
(Lutfia Drastilová) 
 
;����������������������� ��%��������%������	�	������0�"�������'���	����������%������'���	)���
����'��	��'��	�����������
���	�%���0�����������������	�����
�����0< 
(Martin Furst) 
 
 
 
 
 
 
 
�������)�� 
 
������!�������#0�#�
���	
'����	��	��	���	�	�����	�������� 
 
������!��������0�?����!��	
'�����	�	��
 ���'��������
�����������E��	
������K	�� 
 
��������������A0�*��
'�������	�	�����������������	
	�	�
������ 
 
Milanu Vovsovi za technické z���%�����
������ 
 
B%����������������������!��������������������	��������	
'���
��������������
�%�	�� 
 
B%���������������������	��������	���������	���%�
������ 
 
………..a všem ostatním! 
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���%�	)���	���	��� 
 
:0���%�	���?0�7�'�� �1��	
	�����	)����
�%��������������	��'���������
�������������
!���
�	��	��������������
�����0�C0��	�%����'�
�����0�I���������
���38890 
 
���
����40�O������� �7	�������������!����
����������	�����0�B��������
����-..-0�+�����
Emphora 
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'������������ 
 
  
1) Dotazník ( z publikace MUDr. Karla Nešpora...) 
2) Znalostní test 
3) Tabulky pro 1.- 9. oblast 
4) Tabulky pro 10. oblast 
5) *���������	�
��	�	��������� 
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�������	���	��	 
 
 
3&�:	�����������������	����  �&�����
���'��	�����$��0����ach o své zdraví) 

 b) rakovinu 
  c) chronickou rýmu 
 
 
2) Hlavní typy marihuany se odlišují v její „síle“. Má na tom podíl: 
  �&�
����	�������� 
  b) velikost palic  
  c) látka THC 
 
3) Amfetaminy jsou:  �&��	
������������������0����
���� 
 �&������
'���������. heroin 
 c) tabák a marihuana 
  
 
4) Kokain (povzbuzuje nervový systém) se získává z: a) opiového máku 
     �&��������	�� 
     c) hašiše 
 
 
5) Crack je: a) jiná forma heroinu 
 b) jiná forma kokainu 
 c) jiná forma hašiše 
 
 
6) Alkohol poškozuje: a) vlasy 
 b) játra 
 c) mozek 
 
 
9&�+,������
�%����������	������	�������	�	���������	   a) dehydratace 
     �&�������������������� 
     c) infarktu 
 
 
F&����
��������
��%��	�����
�������!��0    ANO – NE 
 
 
8&�*����������
��	
��%������
��	��0     ANO- NE 
 
 
10) Po heroinu se����
�%�
��������
�����	�����������	�������%0 ANO- NE 
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(�	����������������������+������"����,$�����-����	��- K. Nešpor 
 
J��	
�����	�������
%��
���������������	�����0� 
5���	������;�	�
����<����	�;���	�
����<���������	��������6����������'0�J��	
����	�����	
	, 
����������
��	��	
����	�����
'
	����	����������	�
��������	����������	�
����0  
"�'�	�%�	�� ��������������������������������������������*����  
1. oblast 

Pohlaví:  

3&�G�	�����%��'���������
����
����0 souhlasí  nesouhlasí 
-&�J��
���%�
�!���������������� je škola nebo jiné povinnosti, 
z domova bez povolení, 

  

/&�B�����%����	�
�����
��������-�
	���������������
�������	�
�	!���!	
���
���( 

  

C&���������	��!�����
�!�����
��������
�����
 �	��������	���
6!������( 

  

=&�*��
�%�
��%��	��
	����!�������������������ak touláš s �������(   
>&�����%����
��%��	�(   
9&�*��
�%�
��%����
	��'
	�!�������(   
F&�I���%����	
	�����	)�����	��������	��	��	!����(   
9) Máš ve srovnání s 
��%��	��
����
������'����	��!�����
���������	��	�	
( 

  

10) Jsi nespokojen s tím jak trávíš vo����!��(   
33&�L��
�%�������
�������������(   
   
2. oblast   
3&�2���	���	������%��
������	���������	����������������
��

	���( 

  

-&�2���	�����������%������������%�����������(   
/&�*����%�!���	��
���������	����������
��'
�%���	��(   
C&�2���	����!�%(   
=&�G�	��%�!���	�����
������	��������������%�%����������
správný? 

  

>&�2���	������%����	����
�%����	���(   
9&��	������%�!���	����
'���������
������������(   
F&�N���������!���	����
'���	��%���������

���	���(   
8&����	������
�������%���	����������������ména s cizími lidmi?   
10) Míváš špatnou náladu?   
33&�
�
�	����%����
����������(   
3-&����
�%�
�������������
��%�����
��
�
����
����(   
13) Snadno se dáš vyvést z rovnováhy?   
3C&�4���%�!���	�
���������
�����%����������	������
�
následcích? 

  

3=&�4���%�!���	��������������	��������!�'�
���(   
3>&�B����
�%����
'������������� �	�����%���������	��(   
39&�2���	�����	�!�����%(   
3F&�*��
�%�
��%����
	��'
	�!����	����	��(   
19) Utekl jsi z �	�	
�����	������'
	�������������
������CF�
hodin? 

  

-.&�#	�������
������������������	����������(   
   



 18 

3. oblast   
3&�7
	��%�������
�����'��'�����'��	���	��(   
-&�G�����������������������6�������	���
	���������������������
trpíš? 

  

/&�*���%������
	�������	���	�������%���������(   
C&���%��'�������)���������������%�������������������(   
=&������������	������
����
 �	��������	���	�
�������=��)(   
6) Míváš dýchací problémy nebo kašel?   
9&���
�%��	����������
�����	���
	��	���(   
F&����������
����	�������
3-����������	������(   
8&�*���%�������������������	�
	�	���%��i  bolestivými 
problémy? 

  

3.&�*���%������������������	���	������������'����
��
srovnání s 
����
�����	����������	����
�
	�����( 

  

   
4. oblast   
3&��	%�	����������������

����������������	
	����'
	(   
-&�:���������	���	
���(   
3) Pereš nebo hádáš se !������������
	���
����
����(   
C&�*���%�!���	����	������������)��(   
=&����	����%�
 ��������������������������(   
6) Snadno cítíš zklamání?   
9&�J�����������	���������%(   
F&�2���	��������%�
	����������(   
9) Okusuješ si nehty?   
10) Máš neklidný spánek?   
11) Jsi nervózní?   
12) Dostaneš snadno strach?   
3/&�4���%����
	��������	���(   
3C&�"����	������	�����'��������
����� hlavy?   
3=&���%��	��������������������������
���(   
3>&�G���
�%�
���������'����������������%������%�������������
„hlasy“? 

  

39&������%�������%������'��
��%��������0�:���'����������'�
nemají? 

  

18) Míváš mezi lidmi strach?   
38&�"�����!���	��	����!�(   
-.&���
�%�!���	��	��������)���������
�%��	�� ���������(   
   
5. oblast   
1) Jsi mezi vrstevníky málo oblíbený?   
2) Jsi�
��%��	������	�	����� tím, jak se zapojuješ do toho, co 
���������������( 

  

/&�"����	����������'����
�����
������������������
������
�������( 

  

C&�B����
�����������������
���������(   
5) Bojíš se hájit vlastní zájmy?   
>&�"����	������
	��������'��	����� druhé o pomoc?   
9&�B����
�������������	�	
��
�����(   
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F&�I�
��������%����	��!�	�������%��
�������	��!�	���
����
����(   
8&�4���%����!���	�����	����������	���	������%����������	�������
druhé? 

  

3.&�4�����������	����
������
������	�(   
33&�4�����������osti odmítat druhým?   
3-&�7���%����������������������������	��

���(   
3/&�B�������������������	����	���������'
	(   
3C&�:�������
�%�� ���
���0�B�
���%����!���	��	
����������(   
   
6. oblast   
3&�G���	������������	�� ��%���	��������
��������
�������okain, 
heroin nebo pervitin? 

  

-&�G���	������������������	�� �	�����	�������	
�������	�����
������� �	
	�������	��'���
��%�	����
 ��������������	�
s �������( 

  

/&�I�������	�� �����'��	�������
����
'
	���
	����
�����(   
C&�2���	����� �	��!��
���%��������	�������������!���(   
=&�I�
���	�������������	
�	����(   
>&�K	��!����
����	���������������	���(   
7) Neexistují v �
'��	��������������
�������	�����%����	���(   
F&���
�����	��!����	�����		���
��������%�	�
����
������'���	��
��	�������������'( 

  

9) Hádají�����	��!��!���	(   
3.&����
����!���	��	��!��������������	�����%(   
33&�I�
�����	��!��
��%��	�����	��	�	
(   
3-&���%��	�����������	�������	��!�����������(   
13) Jsi nespokojen s ���	���������
'
	���
	��(   
3C&�������%�����	��������!��(   
3=&�I��������	���!���	(   
3>&�*�������	�����������	�� �	��!��
���	����%�
����
	�	�	�(   
   
7. oblast   
1)Školu nemáš rád?   
-&�*���	���������!�������	�
��%�	����	���������%(   
/&���%��	��������'�������(   
C&�7
	��%����%�	���
��������
������
 ������(   
=&���%�!asto zameškané hodiny?   
>&�L
��	
�������
������������%�	���	�����%(   
9&�G��
�����!���	�����������%�%�6�	�(   
F&"���
��������!���	�	�����(   
8&�����
���%�!���	����
	������	���(   
3.&�5������������������
��%�	���
����	
������ posledním 
rokem? 

  

11) C���%����
��%�	����	������������	��	���%���(   
12) Nudíš se ve škole?   
3/&�5
	�%�������
���%�	������	����
(   
3C&�7���%����
��%�	���E�������	
�	�	
��(   
3=&���	���������������
��%�	��(   
3>&�7���%������
������	%�	����
�����
������	�
�����	
��
�   
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��	����ch nevítán? 
39&�B����
�������������%�	������	��������%����	�����
����
alkoholu nebo drogám? 

  

3F&������������������	��'����
�������	
	������	���	)��(   
38&�G���	�����������	
	�����	���	)����������������������6�	
��
���	����������
����	�%�	��( 

  

20) Sta�	����������
 ��
	����������� �����'�%�	���
��	�!���(   
   
9. oblast   
3&��������������� �
��
�����������
����������	
	�(   
-&�4�
�����	���	��
������	�� �
��
����������	)���
���

����
�����( 

  

/&��
������������	�� �
��
��������������������
�
��%�	�����bo 
�������	�
����
 ����������( 

  

C&���������	�� �
��
����������	��'���������	���(   
=&���������	��!���
'��������������(   
>&�"��
��%�����
��
������������%��
�������(   
9&�7
	����
	���������'�!���	����%�	������	�����	��%�	���
����
%��
�������������
	����o práce? 

  

F&�����
��������'�
�!����������������	��
�����	
	�����	�����
nejsou drogy? 

  

8&����������������'�����������
�!�����I�
����	�������
�3-�
����������	
	�����	���	)�( 

  

3.&�L�������������'����	�
 	��
	������	�6��������	%�	�����
���������������
����	�������
�3-��������
( 

  

3-&�*��������
 �	�!���	�������������	��'�����������%�
s ������������	�� ����������( 

  

3/&�����%�����'
	�����������������������(   
14) Máš v porovnání s 
����
��������	�������(   
 
10. oblast 
"���!���	�����������
����	�������
�/.�����������	��� následujících látek? 
3&�1��	
	��
!�������
��  ani 1x 1x 3x – 

9x 
10x – 
20x 

více 
����-., 

���
� 

2) Tabák :       
3) Marihuany nebo hašiš :       
4) Pervitin, efedrin, amfetamin :       
5) LSD, tripy, ectasy a jiné halucinogeny :       
6) Tlumivé látky a léky na spaní :       
7) Léky proti bolestem       
8) Opiáty (heroin, braun, kodein) :       
8&�*���
'�������$!��
���&�        
10) Kokain :       
11) Hazardní hra (sázky, automaty) :       
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�
�����$��������	�����	��	� 
���������ZŠ             

     Dotazník body 1b./ 8 % 2b./ 
17% 

3 b./ 
25% 

4 b./ 
33% 

5 b./ 
42% 

6 b./ 
50% 

7 b./ 
58% 

8 b./ 
67% 

9 b./ 
75% 

10 b./ 
83% 

11 b./ 
92% 

12 
b./100% 

���������	
����
� 0 0 0 0 0 4 1 6 5 1 0 0 

����������
����
� 0 0 0 1 0 4 4 2 2 0 0 0 

         9. t��
� 0 0 0 0 0 0 0 0 0 0 0 0 

              
�����������             

     Dotazník body 1b./ 8 % 2b./ 
17% 

3 b./ 
25% 

4 b./ 
33% 

5 b./ 
42% 

6 b./ 
50% 

7 b./ 
58% 

8 b./ 
67% 

9 b./ 
75% 

10 b./ 
83% 

11 b./ 
92% 

12 
b./100% 

���������	
����
� 0 0 0 0 1 0 4 6 9 3 1 0 

  ��������
����
� 0 0 0 0 0 3 3 7 9 3 0 0 

����������
����
� 0 0 0 0 0 0 0 0 0 0 0 0 

              
��������
���             

     Dotazník body 1b./ 8 % 2b./ 
17% 

3 b./ 
25% 

4 b./ 
33% 

5 b./ 
42% 

6 b./ 
50% 

7 b./ 
58% 

8 b./ 
67% 

9 b./ 
75% 

10 b./ 
83% 

11 b./ 
92% 

12 
b./100% 

���������	
����
� 0 0 0 0 0 0 0 0 0 0 0 0 

����������
����
� 0 0 0 0 1 2 5 8 3 7 3 0 

����������
����
� 0 0 0 0 0 0 0 0 0 0 0 0 

              
Neratovice III. ZŠ 
��
������ 

            

     Dotazník body 1b./ 8 % 2b./ 
17% 

3 b./ 
25% 

4 b./ 
33% 

5 b./ 
42% 

6 b./ 
50% 

7 b./ 
58% 

8 b./ 
67% 

9 b./ 
75% 

10 b./ 
83% 

11 b./ 
92% 

12 
b./100% 

���������	
����
� 0 0 0 0 0 0 0 0 0 0 0 0 

����������
����
� 0 0 0 0 1 4 5 7 2 3 0 0 

����������
����
� 0 0 0 0 0 0 0 0 0 0 0 0 

              
Neratovice II. ZŠ 
Školní 900 

            

     Dotazník body 1b./ 8 % 2b./ 
17% 

3 b./ 
25% 

4 b./ 
33% 

5 b./ 
42% 

6 b./ 
50% 

7 b./ 
58% 

8 b./ 
67% 

9 b./ 
75% 

10 b./ 
83% 

11 b./ 
92% 

12 
b./100% 

���������	
����
� 0 0 0 1 5 8 5 2 2 3 1 0 

����������
����
� 0 0 0 0 1 2 1 1 6 3 2 0 

����������
����
� 0 0 0 0 0 0 0 0 0 0 0 0 

              
Souhrn všech 
škol 

            

     Dotazník body 1b./ 8 % 2b./ 
17% 

3 b./ 
25% 

4 b./ 
33% 

5 b./ 
42% 

6 b./ 
50% 

7 b./ 
58% 

8 b./ 
67% 

9 b./ 
75% 

10 b./ 
83% 

11 b./ 
92% 

12 
b./100% 

���������	
����
� 0 0 0 1 6 12 10 14 16 7 2 0 

����������
����
� 0 0 0 1 3 15 18 25 22 16 5 0 

����������
����
� 0 0 0 0 0 0 0 0 0 0 0 0 

 


